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Logic:
· Formal logic can be divided into two types, deductive and inductive:

· Deductive logic: uses syllogism as its mechanism. Contains 3 premises. All-all-all is the most common. The middle term is used twice, once in the 1st premise, again in the 2nd.

· Inductive logic: appears much like an analogy, uses the matching of like characteristics to make a conclusion, not completely reliable, are generalizations and someday might not be true. Also applies to the use of samples as evidence for a proposition about the whole class of things the sample was taken from.

· “All past Thursdays the market has been up” “Today is Thursday” “Therefore the market is up”

· This is not a syllogism because the first premise isn’t a true “all.” It can only look back to past Thursdays but can’t speak definitively about how future Thursdays will perform.

· Courts sometimes use induction (i.e. generalization) to create what amounts to a presumption based on prior cases, e.g. one car hits another from behind gives rise to the presumption of negligence.

· Logic of propositions/symbolic logic:

· Proposition = a statement that is definitively true or false, and can’t have any element of maybe.

· Symbolic logic just substitutes “operators” (symbols) for words.

Fallacy:
· [A] Structural fallacies:

· (1) Circularity: typically the result of deficiencies in the syllogistic form

· The first premise assumes the conclusion rather than depending on separate verification.

· (2) Definition: The first premise isn’t really a premise, it’s a conclusion, e.g. “abortion is murder” as the 1st premise.

· (3) Issue transformation: Substitutes a different syllogism for the one at issue and then either establishes it or refutes it. Often used in litigation, e.g. your opponent tells the jury “The important thing ladies and gentlemen is that the defendant lied to you.”

· (4) Fallacy of authority: Tiger Woods doesn’t know any more about brokerages than I do, but he endorses them and people believe him.

· (5) Fallacy of middle term: The structure doesn’t have a middle term.

· This is harder to spot if you are dealing with unfamiliar terms, like farfles.

· Says in essence that thing x has this property, thing y has that same property, so thing x and thing y must be the same.

· It’s really just an analogy.

· (6) Fallacy of conflation: a required premise is left out or two premises are collapsed into one

· We do this with informal reasoning: “I’m not buying that coat because its too expensive” – leaves out the term ‘I never buy coats I consider too expensive”

[B] Linguistics and conceptual fallacies:

· Semiotics = the study of signs and symbols as communication devices: this study asks how accurately we can convey concepts to others using language symbols.

· Metaphysics = studies how closely concepts resemble reality: some concepts are easy, e.g. holding up a finger means “one”, but what does “justice” mean?

· Example: perpetrator has a red shirt; rookie officer thinks this guy’s shirt is not red; concludes this guy is not their man

· Semiotic level: what does “red” mean

· Metaphysics: is there such a thing as red that corresponds to reality?

Fallacies based on imprecise language or concept:

· Fallacy of substituted meaning: “Silverfish” is both an insect and a fish, so not all silverfish can swim

· Fallacy of ambivalent middle term: harder to spot the more abstract the middle term is

· Fallacy of metaphor: “my love is like a red, red rose” “roses grow best in acidic conditions” “therefore my love will grow best in acidic conditions”; we often try to reason using metaphor. This kind of proof uses no logic and it produces no evidence.

Examples:

· Clinton said he and Monica were “never alone” but Clinton used “alone” as a symbol for nobody else in the white house, rather than nobody in the room.

· “John Kerry is very liberal” “Ted Kennedy is very liberal” “Therefore Ted Kennedy and John Kerry are alike”: this is missing a middle term (“Anyone who is very liberal thinks the same as other liberals”) and is an analogy not a syllogism. All the reasoner is doing is equating two things they think are alike.

· Ambivalent middle term: DSM IV says that some pedophiles are “normal.” Tom Delay didn’t like this because his interpretation of “normal” was not that which was intended.

· Metaphor/analogy: a judge decides that because it would be unconstitutional to torture some physically in jail, excessive mental depravation = mental torture = unconstitutional.

[C] Structural Fallacies in Inductive Reasoning:

· Fallacy of “post hoc, ergo propter hoc” – it happened after this, therefore it happened because of this.

· Fallacy of consistency: “I shot a bear from behind that tree, and if you don’t believe me, there’s the tree.” Infers a fact from evidence that does not refute it, but does little to establish it either. Often used by trial lawyers: my client couldn’t have been there to shoplift that day because she wore 6” heels.

· Fallacy of inadequate sample: (1) too small (2) unrepresentative.

· Inductive fallacies of BIAS:

· Availability: you consider only the data you’re familiar with and you don’t look any further, e.g. flat earth theory.

· Anchoring: reluctance to let go of a conclusion you drew long ago and have held ever since.

· Configuration: our mind sees patterns and makes an effort to organize random data into something that makes sense.

· Clumping is a subset of configuration, e.g. seeing patterns in the lottery drawings.

Inductive Heuristics:

· Heuristics just means inquiry or testing.

· How do we test our inductions?

· Summative v Ampliative

· Summative: tells you about the data you already have, e.g. every day thus far the sun has risen in the east, so it probably did 10 years ago.

· Ampliative: makes a prediction about the unknown: the sun will probably rise in the east tomorrow

· Enumerative v Variative

· Enumerative: get lots of observations

· Variative: get observations in other circumstances (can be harder to do, depending upon your concept of variation)

· Abduction v Retroduction

· Abduction: generating hypothetical mechanisms for why things happen as they do, e.g. the Denver Broncos cause water to boil at less than 100 degrees

· Retroduction: we rejected the hypotheses that we’ve generated but which don’t test out.

Holistic Approaches: Dialectics and Story Theory

· Holistic = looking at the logic as a whole, e.g. evaluation of overall consistency

· Dialectical = thesis = proponent’s theory, antithesis = opponent’s theory: observers form a refined hypothesis called a “synthesis” A modern day trial is a dialectic.

· Story theory: relating a narrative – what we do in law school.

· United States v Old Chief: “ a syllogism is not a story” – there’s a need for lawyers to be able to present evidentiary depth. The court seemed to say that sometimes a story is better than a syllogism.

· Stories are more relatable, comprehensible and familiar than syllogisms.

Epistemology (philosophy of knowledge):

· Skepticism: we know nothing

· Empiricism: only the observable/verifiable can be true

· Rationalism: if you know some things, by reasoning you can conclude other things

· Coherence: if you set up a logical system then you can know that things are consistent, e.g. math

Economics I:
· Equilibrium price: there is no shortage, no oversupply. Supply and demand are equal.

· A “perfectly competitive market” is one with so many firms that none has control over prices and in which all produce an undifferentiated product.

· The signaling effect of price:

· The demand or supply curve shifts: people want more/less, or there is more/less available

· The equilibrium price thus shifts…

· …and equilibrium quantity will follow.

· E.g. if there is a shortage of oil the price will go up, which is a signal to sellers to get more of it and a signal to consumers to use less.

· Price controls as a response to shortages: bad idea because it distorts the signaling function of price. Producers won’t be as willing to produce as much of the product at the enforced lower price, so there will be less product available. Consumers will scramble to get the product. Western economists are united in thinking price controls are bad.

· Consumer sovereignty: the notion of “dollar votes” and power to the people. The idea that consumers dictate outcome isn’t quite accurate b/c dollar votes aren’t evenly shared out.

· School vouchers: idea is that instead of central planning (HISD) we let the market work. Objections are that the plan benefits the rich, and that teachers will have to work too much for too little money.

· Deregulating cab fares: if people could be perfectly educated about routes and fares, deregulation might work and fares might better reflect the resources people want put into cabs (clean, etc). This is effectively impossible – all people can’t be made perfectly educated.

Marginal Cost:

· Low quantity = high cost (e.g. a concept car)

· Higher quantity = lower cost

· The marginal cost of a production factor (e.g. fertilizer) tends to equal its marginal productivity (e.g. how well the crops grow). When a production factor stops providing returns the farmer will not use any more of it. Also known as “law of diminishing returns.”

· To maximize profits, firms are motivated to find the most efficient mix of factors – labor, fertilizer, etc.

· Marginal utility: refers to the satisfaction each additional unit of a given commodity would produce; if you have one Chevy car already, having another 10 identical cars isn’t likely to bring you any additional marginal utility.

· Pareto Optimality: nobody is worse off after the exchange, but not everyone is better off either. Doesn’t ensure that everyone gets something.

· Kaldor-Hicks: total gains of the winners exceed the total losses of the losers.

· Equality v Efficiency tradeoff: the market does lead to efficiency, but not to equality. Wealth redistribution is inconsistent with efficiency and taxing based on consumption or production distorts the effect of the market: the graduated income tax is such an inefficiency.

Macroeconomics:

· Microeconomics = the behavior of firms and consumers in the marketplace

· Macroeconomics = the behavior of the economy as a whole

· Macroeconomics is essentially concerned with (1) growth (2) employment and (3) stability

· The problem is that these three factors are interrelated and inconsistent: its possible to stimulate growth but reduce stability.

· GDP, Consumer Price Index and Unemployment: these aren’t the perfect measures b/c they ignore both the self-service economy and illegal markets.

· The common law may have a macroeconomic function, e.g. asbestos liability.

· The “Keynsian Revolution” – main principles are that (1) the government and other inputs/outputs are ingredients that must be considered, you can’t get an accurate picture by just adding up industries across the economy (2) the multiplier effect.

· Fiscal policy – congress addresses the economy via spending, taxes, etc.

· Monetary policy – the federal reserve

· How the federal reserve does its job:

· It sets reserve limits – how much a bank must have on hand

· It regulates discount

· Via open market transactions (this is the most precise tool) – it can use this mechanism to put money in/out of the money supply

Economics II:
There are two departures from atomistic competition that require the law’s attention:

1. Monopoly, the definition of which is “one seller of a good for which there are not substitute goods.”

a. A monopoly can result naturally, e.g. a toll bridge, or by the consolidation of aging industries into one (e.g. typewriter manufacturers). There are many reasons a monopoly might occur.

b. People typically see monopolists as evil whereas economists just see them as rational. A rational monopolist would restrict his output in order to maximize profit.

2. Oligopoly, whereby there are relatively few major sellers who have to keep each other’s behavior in mind, e.g. the auto industry. Each player must react to others’ strategic behavior.

a. Product differentiation is a result of an oligopoly: Ford F150 versus Silverado

b. There are high barriers to entry in oligopolies, it’s expensive to start your own business mass producing automobiles

Responses to monopoly/oligopoly:

1. Price regulation, to force monopolists to act more like they are a marker competitor rather than market dictator

2. Anti-trust, aimed at certain behaviors such as illegal price fixing.

a. The problem with setting prices to regulate a monopoly is that the signaling function of price is lost; we wouldn’t want to set a cap on the price of Rockets tickets, because what if they suddenly start winning all the time?

b. In regulating how much a monopolistic enterprise can succeed by capping the price of their product, but making them feel the force of failed initiatives in full, you reduce the incentive to innovate.

c. Should the conscious parallel pricing behavior of banks matching interest rates be considered an anti-trust violation? Generally not, there’s a requirement of the added element of collusion.

The opposite situation: when there is too much competition.

Maybe areas where there is a very low barrier to entry (lounge singers, restaurants) actually handicap the good restaurants, because there is so much choice that the available dollar votes are diluted. Many people will inadvertently spend money on bad restaurants that fail in the first year, instead of focusing their spending on the goods ones that could expand if they had more cash intake.

Remaining material from Darren Bush’s guest spot…

· Consumers face (i) scarcity – we can’t buy everything, and (ii) choices – we must choose what to buy. The maximization of utility explains why we buy things or do things. As consumers we make our choices on a rational basis, and we pick things that will give us the most utility.

· Diminishing marginal utility: we can only get so much of a good thing. On day 1 macaroni and cheese seems like a heaven-sent solution to inability to prepare a decent meal, but on day 10 we can’t stand the sight of it.

· To incite people to consume more of a utility you’ve got to drop the price, hence “Buy one pair get the 2nd pair half price.” We would only buy the 2nd pair because they’re half price – that’s the rational action aspect.

· The theory of the firm is the same as the theory of the consumer, only rather than maximizing its utility a firm seeks to maximize its profits.

· If we just assume rationality by definition, that all actors behave rationally regardless, then any interpersonal comparison of utility is meaningless and invalid – a serial killer kills people whereas Mother Theresa feeds the starving…who’s to say which is “better”?

· When we talk about third party effects, i.e. externalities, we are talking about unintended effects of an exchange. Externalities are pervasive and extremely common, e.g. paying too much for a meal, sitting near a noisy diner.

· The problem with eliminating externalities is that the administration costs of any anti-externality measures or legislation are very high – think what it would cost to enact, defend and enforce an ordinance against loud neckties.

How can you get market players to internalize?

· Regulation or taxation – Pigou had a theory that we could just tax the producer of the externality the exact dollar amount of the cost. Kind of tricky though with things like a polluting smokestack – how to put a dollar price on that?

· Do nothing – this is what we do now. 

a. Coase noted that the externality is reciprocal in nature, the problem exists because of both the presence of the polluting smokestack and the complaining neighbors.

b. Coase said that if there are no transaction costs, all a court has to do is assign a right to one of the parties and left to their own devices they’ll bargain to the most efficient outcome.

c. Tort law – transaction costs would be way too high to pre-negotiate for accident costs (e.g. consulting with all other Houston motorists to see what they’d take in settlement if you crashed into them). And what about a plaintiff who turned down a $200k job for an $80k job? Evidently the $80k job was worth at least $200k to him for factors beyond the dollar amount of his salary – this type of opportunity cost is not accounted for in tort law.

Accounting
Journal  - a book-keepers job to keep it up. Operates under a double entry system, credit and debit entry to every transaction. We credit where money came from and debit where it went.

The journal is in turn used to create a ledger, which is where we add everything up. Journal is a day-to-day bookkeeping system.

A balance sheet shows assets:

ASSETS = LIABILITY + EQUITY

The balance sheet gives a year-end snapshot showing a breakdown of assets, liabilities and equity.

Determining if a good investment: Compare net annual income after taxes to equity: you want to see what percentage of equity the net income is, and compare that to the interest rate you could get on a good CD account for example.

Income statement shows the change in the company’s finances over the year. Tells you your net income and whether the business has been a fruitful investment.

Accrual method accounting

ii. Recognize income when it is earned and reasonably certain, and recognize debts when incurred.

iii. Some debts will never be recovered because some clients don’t pay. In accounts receivable statements there’s usually a “bad debt allowance.” You might be owed $10,000 by your clients, but as an accrual method user you would recognize only $8,500 and keep a 15% bad debt allowance.

iv. The principle of conservatism – accountants would rather err on the side of conservative in estimating bad debt reserves. This creates a tension between accountants and their clients b/c the client would like the company to appear as profitable as possible.

v. GAAP – audit letters from an accountant should always state that they are prepared in accordance with GAAP.

Use of Judgment in Accounting:
i. FASB – Financial Accounting Standards Board: has issued a set of accounting standards

ii. Example of how the rules apply: for inventory you can use the lower of either cost or market price (e.g. a car dealership holding this year’s models: as the current model year value starts to drop, we’re more likely to value inventory using market rather than cost). There’s an opportunity to manipulate the result though by valuing the market price higher.

iii. LIFO v FIFO – LIFO will give a higher cost basis, hence a lower income. Example:

a. Store sells $30k of books bought in two lots.

b. First lot bought for $10k, but price went up and 2nd lot bought for $20k.

c. If FIFO is used, the cost of goods sold is $10k, which means the bookstore made $20k.

d. If LIFO is used, the cost of goods sold is $20k, thus the bookstore made $10k.

e. LIFO is good if you want lower taxes, FIFO is good if you want to show more income.

iv. Red flags for lawyers looking at financial records:

a. LIFO or FIFO method is not openly disclosed, or the business switches between the methods from one year to the next.

b. Always pay attention to the valuation method – is inventory being valued using cost price or market? Which would be the fairest?

c. Decreasing the bad debt reserves is one way to cook the books (to make collections or income look higher than it is) as is tinkering with depreciation rates to jack up deductions.

v. A defendant may plead poverty to try and avoid having a judgment enforced against them, so you will want to see audited financials. How could a defendant cheat to make themselves look poor?

a. LIFO/FIFO choice

b. Recharacterize revenues as not yet earned

c. Use a bad-debt reserve that is unreasonably high

d. Take grossly accelerated depreciation deductions

e. If there are sister corporations, make trades with them that artificially reduced available assets.

vi. How can a lawyer check to see what a defendant is really worth?

a. Look for explanatory footnotes in the financial audits.

b. Read them carefully

c. Compare what the difference would be between FIFO and LIFO

d. Insist on an explicit statement of conformance to GAAP

e. Insist that the accountant be solvent so you can sue them if needs be

f. Insist on audited financials being done

Controls & Auditing:
i. Separate and duplicate duties to ensure consistency and honesty; make two people receive cash and sign a slip for it, not one.

ii. Records; create a paper trail and generate unique transaction numbers.

iii. Separate the person who can disburse checks from the person who signs them.

iv. Auditing; verify that physical assets really exist to match the financial statements. Auditors should provide a letter with these components: (i) responsibilities – do they have to check in person that assets exist? (ii) performance – if they do have to go and look, did they actually do it? (iii) opinions – should say the books conform to GAAP and any variation should make you suspicious.

Equity & Debt Financing:

Capital accounts – the different amounts that people have paid into the business out of pocket

Retained earnings – money the corporation has earned but not paid as dividends.

Debt v equity: most businesses are financed by a combination of the two.

Time value of money formulae:
Present value

PV = 1 / (1 + i)n

i = interest rate, n = number of years

Figuring the value of a structured settlement (lottery style)

PV = [1-1/(1+i)]n  /i x (payment)

Yield/return on investment:

i = (FV/PV) 1/n – 1

Example: $1,000 stock purchase, sold for $2,000 4 years later:

i = ($2000/$1000) ¼ - 1

= (2)1/4 – 1

= 1.19

= 19% return

Risk & Return:
Risk premium: an amount paid to an investor for enduring entrepreneurial risk

Standard deviation: uses past fluctuation to give us a measure of variability

Real v nominal return: real takes account of inflation whereas nominal doesn’t

An ARM should result in lower overall rates than a fixed rate mortgage because the risk of a shift in the prevailing interest rate is shifted from the lender to the borrower, hence they can extend a more favorable rate.

Management: 

Classical management styles over the years:

i. Rule-oriented systems – have an EE rule for everything, explain and enforce them through management. Catch is that you might have bad rules.

ii. Scientific management – tried to find scientifically chosen goals and procedures, for example Ford Motor Co added a production line and cut assembly time to one fifth. Catch – ignores factors other than management.

iii. Administrative management – setting out responsibilities and powers of persons in the hierarchy. Establish a chain of command and operate within it.

iv. Human Relations – consider workers’ motivational factors, be concerned with self-esteem and recognition.

Modern Management:

i. Quantitative theory – turns out lots of things can be measured and hard numbers obtained, but the problem is that some decisions can never be quantified.

ii. Organizational theory – took into account the notion that is was unlikely one measure would fix all

iii. Systems theory – treated the organization as a system that interacted with the environment; more than the internal factors were considered.

iv. Contingency theory – firms will have very different strategies subject to the business they are in, e.g. an ISP versus a shoemaker.

Contemporary management:

i. TQM – Total Quality Management – everything in the firm is oriented toward quality as it is defined by the consumer. Ask the consumer what it is they want and then give it to them, e.g. Japanese automakers.

ii. Just In Time Management – only take action if it is targeted toward a specific goal. Procrastination can be a positive thing, e.g. waiting to write a motion in a case until the issues become clear.

Decision making:
i. Usually is unstructured and uncertain, e.g. should I take this case? Can’t always be systematic.

ii. There is usually psychological and political conflict when group decisions are involved.

iii. Group conformity issue.

iv. Process – due diligence: ensures that the proposed decision really is the best. Example of due diligence is physically visiting the premises of a restaurant chain up for sale, or verifying the resume of a job applicant by calling old bosses.

Feedback loop:

1. Diagnosis

2. Options

3. Investigate

4. Decision

5. Execution

6. Review

Marketing strategies:
i. Not just advertising, marketing is about competitive strategy and analysis, figuring out what market to go into and how.

ii. Business plan is an expression of the idea that supplies info to financiers, etc.

iii. Elements of the plan include: 

a. (i) short term goals 

b. (ii) long term goals 

c. (iii) market analysis (product/service offered, distribution methods, competitors, location, suppliers, equipment, human resources, regulatory/legal concerns. 

d. (iv) internal assets 

e. (v) pro forma statements (best guess) at income

iv. Different product strategies:

a. Operational (price) e.g. Chevy Cavalier

b. Quality (differentiation) e.g. Mercedes

c. Niche (segment focus/customer intimacy) e.g. Porsche

Ethics

i. Ethics is about defining duties; the differences occur as to how those duties should be defined.

ii. Who should own a t.v. station according to the following?

a. Greeks – the aristocracy should own it.

b. Hobbes – the monarch, the big guy.

c. Locke – privately owned.

d. Rousseau – the state should own it b/c the state can assure equality

e. Burke – follow tradition, whoever owned it in the past.

iii. Social contract theory: the notion that we all have implied contracts with one another and we all operate in society as per that contract (e.g. agreement not to kill one another’s family members arbitrarily).

iv. Teology: emphasis is on behavior consistent with appropriate purposes or results, as opposed to an emphasis on justice.

v. Deontology: emphasis is justice and rightness/wrongness of philosophy; does not tot up the costs and benefits.

vi. Utilitarianism and slavery: slavery would be okay because the results are emphasized not the means taken to get them. The slaves would be disadvantaged but the aggregate happiness would increase.

vii. Kantianism is a deontological philosophy. The imitation principle asks “If everyone imitated what I did, would that be an acceptable basis for society?”

viii. Kant gives us the categorical imperative – there are some things that we must just never, ever do, no exceptions.

ix. Kant believes every human being is a valuable end in and of himself and that people should never be objectified. One person may never exploit another for their own gain.

x. Criticisms:
a. Utilitarianism is okay with slavery, but Kantians don’t like it because you can’t objectify people. Some utilitarians might argue for application of certain rules, such as a base level of happiness that all are entitled to, which would rule out slavery.

b. Utilitarians would get rid of the ADA or Title VII because it eats into the happiness of the majority.

c. How could a Kantian handle conflicting categorical imperatives? You can never break a promise and you can never break the law, but what if keeping a promise requires breaking the law? Presumably you revert back to the imitation principle and do that which could most acceptably be imitated.

d. Kantianism doesn’t allow for efficient breach of contract.

xi. Classical liberalism: believed in small government, maximization of freedom, not necessarily interested in state mandated equality.

xii. Modern liberalism: Green – the idea of positive freedom whereby the state has the power and duty to intervene and make freedom a positive thing for all, e.g. by establishing a minimum wage. Bernstein’s idea is democratic socialism – socialism reached by way of democracy rather than revolution – the government owns methods of production, but it does so by the will of the people.

xiii. Modern conservative: three types (i) economic (ii) traditionalist (iii) social

xiv. Some suggest that our society should be primarily consequentialist, however be deontological at the borders, e.g. BMW v Gore used deontological measures to remit the damages; one such measure was degree of reprehensibility.

Rawls:
i. Rawls was attempting to come up with a better alternative to the social contract theory.

ii. Rawls advocated that we all be put in an “original position”, which is kind of like a planning committee for a future society.

iii. Rawls assumes that we have perfect knowledge: an awareness of the consequences of rules that we can and do implement.

iv. Also assumes that rule makers operate behind a veil of ignorance, whereby rule makers consider the welfare of all society and all of its members.

v. Rawls has an equality principle: there are certain basic rights that we should all have, such as voting, freedom of speech, etc.

vi. Rawls’ difference principle allows that wealth and status can exist only if it improves the situation of the very poorest, least fortunate member of society. This is “maximin” which is a game theory (covered later).

vii. Rawls admits that he is not trying to be practical with his theory and acknowledges he can’t tell us how to achieve his Utopian vision of society.

viii. Nozick: kind of the anti-Rawls. Makes the argument that there is a natural right to the fruits of one’s own labor, e.g. Michael Jordan shouldn’t be deprived of the rewards for his skills. Nozick talks about a “night watchman state” – the government should exist solely to enforce contracts, try murder cases, etc. but otherwise should leave the populace alone.

ix. Calabrese: raised the idea of tragic choices – we’re going to have to make difficult decisions, such as who receives an organ transplant. Calabrese says there are different versions of equality, e.g. everyone has the same constitutional free speech rights, but the wealthy have more spending opportunities so are in a better position to take advantage of their free speech.

x. Criticisms of Rawls:

a. It is an impossible society because it is too perfectionist. Even if you could achieve this society it would be nigh on impossible to maintain it.

b. It is based on projection: the theory just reflects Rawls’ idiosyncratic preferences rather than those of society (e.g. why value equality for all over personal wealth?)

c. Maybe Rawls has chosen one value (equality) at the expense of all others (freedom, autonomy, culture).

d. Supermajorities aren’t acceptable under Rawls’ model, you couldn’t require 2/3 of Congress and ¾ of the states to approve an amendment.

e. Rawls does not tell us how to resolve a conflict between values, e.g. religious liberty versus the right to an equal vote.

xi. The trolley problem: hit the switch so only one person is run over and killed or do nothing and allow six to die?

a. Most think like utilitarians (greatest happiness for greatest number) and would rather 6 live than 1.

b. Kant would argue that you can’t do that, it’s not right to aggregate happiness like that.

c. Arguably the situation is no different from dragging a healthy person off the street for forced organ donation to allow six others to live; nobody would permit that, which is a more deontological (justice, rightness/wrongness) mindset.

d. Westermark speaks of ethical relativism: ethics is just too nebulous a concept to be defined objectively.

xii. The non-prosecution of Polygamy in Southern Utah; what would the different ethicists say about it?

a. Kantian view – is it right or wrong? Does it objectify people? Can the behavior acceptably be imitated per the imitation principle?

b. Utilitarian – does polygamy provide the greatest happiness to the greatest number?

c. Rule utilitarian – we must follow the law, because it is right to follow the law.

d. Relativist – there aren’t any morals as such; while we need rules to operate they are no more based on morals than any decision. There is no right or wrong about it.

e. Process theorist – what makes a thing moral is that it has been subjected to “due diligence.” The action (e.g. prosecution or non-prosecution of polygamy) has followed a process of thought and investigation that follows the law, even if it is a lousy law. There are no moral implications involved, all that matters is that the law is followed.

f. Social theorist – in some societies a revenge killing will get you the death penalty, whereas in others it’s a principle means of law enforcement. In those societies its not immoral, its just following society’s law.

Ch.8. Politics

i. Authoritarianism – the consent of the people governed is not a part of the regime.

ii. Totalitarianism – typical features are having only one party, operating through organized terror (KGB), the government controls the use of communications media, government controls weapons, and there is a centrally controlled economy.

iii. Democracy – The politicians are accountable to the people via elections, they must have popular support to take office, they are in competition with one another, the political offices are largely open to anyone, politicians must study public opinion carefully, the rights of minorities must be protected.

iv. Civic republicanism: communitarianism – observes that if you put everything to the vote, you might end up with a decision that reflects a majority of only 51% which leaves 49% unrepresented by the ultimate outcome. Argues for resolving issues by debate and negotiation, trusting more of societies decisions to neutral decision makers.

v. Why favor democracy? Because we think it protects:

a. Individual dignity and autonomy, freedom and equality

b. It upholds the rule of law

c. It provides a transfer of power/succession mechanism

d. It gives us confidence in what will happen in the future

e. There are economic benefits to a free market regime

vi. Constitutionalism (operating under a constitution) offers what advantages?

a. It sets national goals

b. It structures our government

c. It sets lawmaking power

d. It provides limits on what government may do to us

e. It provides flexibility for government to operate

f. It provides a means for change, to government and the constitution

vii. Arrow’s theorem:

a. Judge1: P > D > N

b. Judge2: D > N > P

c. Judge3: N > P > D

d. P is plaintiff, D is defendant and N is no jurisdiction to hear the case

e. The problem is that all judges favor a different outcome

f. With these choices if all judges vote their favorite outcome its impossible to secure a 2:1 majority

g. However, if jurisdiction is ruled on first, then even though jurisdiction is supposed to be a neutral principle, J1 and J3 will vote in favor of finding jurisdiction to hear the case which will mean there are two pro plaintiff judges voting.

h. But if J2 votes strategically he will vote with J3 to find no jurisdiction to hear the case, which will avoid the defendant losing.

viii. Madisonian Dilemma: The dilemma is that you can’t perfectly protect both the majority rule and minority interests at the same time. 

ix. The US government’s attempt to resolve the problem is to have a separate judiciary.

x. The Carolene Products formula: We should protect minority rights when: 

a. (i) there has been a specific violation of the constitution 

b. (ii) political process excludes certain persons 

c. (iii) there is discrimination against discrete/insular minorities.

xi. The parliamentary system: voters elect representatives who in turn elect an executive. The voters have no control over the executive directly. Under the separation of powers model operating in the USA however, the voters elect both the representatives and the executive.

xii. Are political parties the antidote to Arrow’s Theorem? America has a weaker party system than parliamentary systems or centralized government.

xiii. Property rights: is there a lesser level of protection extended to economic regulation than to political regulation (e.g. is property valued lower than free speech?):

a. Laws impairing the ability to own property are more likely to be upheld than those that abridge the freedom of speech.

b. Milton Freedman says that property is a necessary condition for political freedom, e.g. we need private ownership of printing presses to exercise freedom of the press – if the government owns them all we can’t exercise our rights.

xiv. Equality:

a. If A owns 50% of a corporation’s stock, B owns 30% and C owns 20%, how would we divide an unexpected windfall of 30 gold bars?

i. Individual basis – everyone gets 10 each.

ii. By shares – 15/9/6

iii. By coalition – 20/5/5 – this model considers how coalitions would form that would create more than 50% of the votes. The largest share goes to he who contributes the most to the coalition.

Science and the Social Sciences:
Natural Selection:
i. Is evolution or “survival of the fittest” misleading? Perhaps, because it’s not the abstractly fittest who survive, its those who are able to effectively reproduce.

ii. Non-teleological nature: evolution is not purposeful. There is no purpose to things growing the way they did, instead mutated individuals survived particularly well. More commonly mutations go the other way and the individual is less capable of surviving. Giraffes with long necks just happened to do particularly well, so the feature “stuck.”

iii. False theories:

a. Lamarckian – inheritance of characteristics are acquired in the lifetime, if you workout like Arnold, your kids will be huge meatheads too.

b. Spontaneous generation – life pops up out of nowhere when conditions are right; if you leave a bunch of dirty old rags in your barn, rats and roaches come from nowhere.

c. Creationist – basically this is catastrophism; the world came into being all at once and evolution only occurs within types. We didn’t all evolve from primordial goo. Creationism does generate some valid criticisms of evolutionary theory, such as unexplained gaps in the fossil record. More modern theories of natural selection incorporate “punctuated equilibrium” whereby an ice age causes a rapid burst of natural selection.

d. Maybe the human taboos of human cloning or incest are better understood in light of natural selection; they don’t further propagation of the species and thus sidestep the natural selection process.

Inverse square relationship:
i. Heisenberg’s uncertainty principle says that nothing can ever be measured accurately because by the very act of measuring a thing, you change it somehow.

ii. Consider court appointed prison watchdogs: prison officials hate these guys because by virtue of their being present, they change how the prison operates. Prisoners will want to show the guests the prison is the worst place on Earth.

Scientific Methods and Models

Scientific Method:
i. When we say something is scientific, what do we mean?

a. Empiricist/positivist: only things that can be replicated are scientific. 

i. Popper said that a concept must be falsifiable through experiments to be scientific. 

ii. The more an experiment is replicated without being falsified, the more it is taken to be scientifically reliable. 

iii. Empiricists like Boyle’s law because it’s falsifiable through testing.

b. Rationalist: a concept or theory is the key ingredient and you can deduce relationships from others by just thinking about them. 

i. Isaac Newton did this with his laws of motion. 

ii. You just observe, think about it for a while and come up with a theory.

c. Quantitative theorist: unless you can get numbers and derive a formula, then you don’t truly understand it.

ii. The point is that you really need to use all three of the above.

iii. A biological taxonomist (someone who classifies animals) – is this really science? A rationalist would probably say yes, but an empiricist might disagree.

iv. Consider the example of tachyons – under Daubert, Albert Einstein could probably not testify about them because there is no way to falsify the theory. The Supreme Court has placed particular importance on the falsifiability of expert’s hypotheses.

v. Occam’s razor: provided two theories describe a thing equally well, the theory with the least elements (Crump says “least moving parts”) will be preferred.

vi. How bad can a model be and remain useful? Provided it conveys something to somebody and we know what its flaws are, a model can still be useful.

vii. Ptolemaic universe versus Capernican universe – are they scientific? Arguably so, even if one of them is demonstrably false.

viii. What makes for a good scientific or legal model?

a. Tractability

i. Can you communicate it to others?

ii. Can it be used to make computations?

b. Simplicity

i. Occam’s razor – favors the least complex possible

ii. Generality – is it broadly applicable in different contexts?

c. Validity

i. Empirical validity (testing)

ii. Demarcation: how can we tell when it does/doesn’t apply?

Jurisprudence

i. Formalism: essentially syllogistic reasoning: if you have elements A, B and C then you get result D. Scalia’s read-the-text type thinking. Formalism leaves no wiggle-room for special exceptions so it may result in unusually harsh/lax outcomes.

ii. Instrumentalism: using the law to achieve legislative intent. Penumbras and emanations in Griswold is a classic example of instrumentalism in the US Supreme Court.

iii. Natural law: we are all endowed with certain inalienable rights by our creator.

iv. Legal realists: Langdell is the guy who gave us our law school method of learning by reading appellate cases. The old way was to teach the black letter law, like algebra or geography.

v. A rigid formalism was underlying Langdell’s view: if you have two cases with seemingly incongruous holdings on the same facts then there is some explanatory principle that you’re just not seeing.

vi. Holmes and the legal realists believed that the prevailing needs of the times and judges’ individual prejudices were the determinants of cases.

vii. Langdell would argue that the way to learn the definition of negligence is to read twenty negligence cases.

viii. Lewellyn had an extreme positivist view, he felt that the decisions themselves were the law. Decisions are just a set of data points that are so disparate you can’t draw a line through them.

ix. Brandeis was of the opinion that a brief to the US Supreme Ct should include a lot of non-legal data based argument such as sociological data. See e.g. Brown v Board of Education. Premise is that the data is a good way to pander to realist justices.

x. Feminist Jurisprudence: The psychologist Kohlberg argued that men reached a higher level of moral reasoning than women, and women were more likely to step outside the rules when presented with the trolley problem.

xi. Gilligan, a female counterpart of Kohlberg felt that women just have a “different voice.” Fem jurisprudence tends to emphasize connectedness and tolerance of varying points of view.

xii. Critical Legal Studies / Critical Race Theory: argue that the laws exist solely to perpetuate the dominance of the rich or the white race. Race theorists see the sentence enhancements for crack v powder cocaine as an example.

xiii. Law & Economics: has been very impactful, probably because you can actually do something with the theory, unlike the crits which is about useless.

xiv. Hermeneutics: a method of interpretation that looks to the text of the document as if it were the bible. It’s a holistic approach because it considers the document as a whole. “We must never forget that it is a constitution we are expounding” is an example of a hermeneutic view. The approach infers grand themes, e.g. the obsessive behavior of Capt. Ahab in Moby Dick.

xv. Tushnet who apparently just likes to point out stupid arguments claimed that certain portions of the constitution with apparently plain meaning could be viewed hermeneutically, e.g. the president must be 35+ years old just means he must be mature.

xvi. Bobbit’s interpretive modalities: T.H.E.D.P.S. –

a. Textual – what the words say

b. Historical – zeitgeist

c. Ethical – what’s right or wrong morally

d. Doctrinal – follow case precedent, established doctrines

e. Prudential – which decision is the wisest/most prudent?

f. Structural – interpret in light of other provisions.

Psychology

i. Scientific in the classic sense in some of its branches such as Skinner’s pigeons and learning theory, more rationalist in other areas, e.g. Freud.

ii. Freud probably couldn’t testify under Daubert because his theories aren’t falsifiable.

iii. A criticism of DSM is that it does little more than reflect pervading stereotypes, see e.g. the evolution of homosexuality from diagnosis as a sociopathic personality disturbance to not being a disorder at all.

iv. Personality disorders: demonstrate the mushiness of psychology and behavioral science; just as a person’s GPA can’t adequately describe them any generalization will be a stereotype.

v. Maladaptive personality: people who are markedly lacking in capacity to manage some aspects of daily life, e.g. they have a narcissistic or dependent personality.

vi. Borderline personality disorder: unable to maintain decent relationships with persons close to them “I hate you…don’t leave me.”

vii. Obsessive/compulsive disorder: there are 8 criteria, 4 or more of which get you the diagnosis. The results are highly inconsistent in diagnostic studies because so many people show evidence of the criteria (e.g. hyper-attention to details in lawyers). Psychologists agree on diagnoses in a very small number of cases.

viii. Psychoses: main type is schizophrenia; very serious, can’t control emotions and often delusional.

ix. Dissociative disorders – sufferer takes a flight from their regular personality and adopts a new one.

x. Mood disorders: (i) major depressive (ii) bipolar (aka manic-depressive)

xi. Anxiety disorders, e.g. phobias.

xii. Overriding point is that while psychological disorders and diagnoses are scientific because they’ve based on observation, they’re very inexact.

xiii. Depression sometimes called the common cold of mental disorders because there are so many sufferers and it is highly treatable by medicines. Schizophrenia is called the cancer.

xiv. Suicide – tough to prevent because so many people have depression, which is a major precursor to suicide. Also suicides often show apparent improvement before they kill themselves, fooling observers into thinking all is well.

xv. When it comes to insanity as a defense to criminal responsibility, the burden is on the defendant to show by a preponderance of the evidence that they were insane.

xvi. Festinger’s cognitive dissonance theory: 

a. Inconsistent cognitive inputs lead to dissonance and psychological discomfort, which obviously people want to reduce. 

b. If an external event doesn’t fit with our ideal view of the world, we modify how we think about it to reduce the discomfort we feel, e.g. expected great grades, got terrible ones, change thinking to “grades don’t matter after all.”

xvii. Zimbardo’s prison experiment: had to be cancelled early because the mock prison guards began abusing the prisoners too much. Relevant to practicing law because when we adopt our lawyerly persona we have a tendency to take it too far.

xviii. Attribution: dictates how we assign blame or decide what people are really like. Natural inclination when met with a rude person is to decide that they are always rude and unpleasant, rather than the equally plausible alternative that they’re just having a bad day. This is the fundamental attribution error.

xix. Napolitan experiment: fundamental attribution error effect is very strong – even when experimental group were told beforehand the stooge woman was told to act rude, they still decided she had a rude personality.

xx. Attraction: dictated by factors such as exposure, physical appearance, attitudinal similarity and rewarding the audience.

xxi. Factors in Persuasion:
a. (i) audience rewards 

b. (ii) a familiar, attractive speaker like Ed McMahon, 

c. (iii) framing 

d. (iv) using small steps to work toward end goal 

e. (v) don’t forget the dissonance effect though – it may work against you: plaintiff blamed for their own horrible injuries b/c jury can’t face the idea it could happen to them.

xxii. Juries will frame a case themselves very early on in the trial, so it’s smart to do it for them and have them frame it your way not your opponents.

xxiii. Thanking the jury and praising them, even if it seems used car salesman-esque is a good idea; it still works because the jury believes that’s really what you think.

xxiv. Cross-examination: get an adverse witness to concede to many minor points along the way in the hope they’ll make the leap on the big point.

xxv. Lawyers often repeat definitions of legal concepts ad nauseum, the idea being to make the jury very familiar and comfortable with it.

xxvi. Factors in Authority:
xxvii. Milgram’s electric shock experiment.

xxviii. Ash’s judgment of line length experiment.

xxix. Factors affecting obedience: 

a. (i) sense of inferiority to authority figure 

b. (ii) cultural…some cultures value conformity 

c. (iii) unanimity in a group setting 

d. (iv) presence of a role model who doesn’t conform 

e. (v) physical factors: how close you are to your group and/or the authority figure (drill instructors get up in recruits faces).

xxx. Very few states allow 11 member jury verdicts because a single holdout is very unlikely…they’ll back down eventually.

Probabilities

i. Calculating gambler’s odds: 

ii. 1:1 means the probability of the outcome is 0.5

iii. 1:4 means the probability is 0.20

iv. Math is to add the two numbers together on either side of the “:” and put a one over them, then figure the decimal. E.g. 1:4 ( 1+4 = 5, put a one over it = 1/5 = 0.2

v. The probability of not P is always 1 – P. E.g. if the probability of an event occurring is 0.2, then the probability of it not occurring is 1 – 0.2 – 0.8

vi. The product rule:
vii. What is the probability of drawing two spades from 2 separate decks? ¼ x ¼ = 1/16 or expressed as a decimal (0.25) x (0.25) = 0.0625

viii. Independent events are required to use the product rule, see e.g. the Collins case: prosecutor talking about the odds of a blonde, ponytailed woman in a yellow convertible riding with a black man with a beard and a mustache. Case overturned on appeal b/c the events weren’t truly independent – many men with mustaches also have beards.

ix. What are the odds of getting 1 tail in 5 flips of a coin? There are 5 possible combinations: the tail comes up on the 1st, 2nd, 3rd, 4th or 5th flip.

x. This can be expressed as ½ x ½ x ½ x ½ x ½ = 5/32

xi. DNA evidence assumes total independence, but that’s not necessarily correct. DNA is not a prediction of guilt, it’s a statement of likelihood of someone else in the population randomly having a given characteristic.

xii. Bayes’ Theorem:
xiii. The literal use is to figure out the new probability based on an old probability plus new evidence brought to light of a known occurrence. An example is drawing two spades from one deck – knowing what was drawn the first time affects the likelihood of drawing a spade the 2nd draw. This is what card counters do.

xiv. The math of Bayes is that the new evidence changes the probability of a proposition in proportion to the likelihood of seeing the new evidence if the proposition is true (e.g. the defendant is the murderer) versus the likelihood of seeing it if the proposition is not true (e.g. if the defendant is not the murderer).

xv. Using paternity as an example, if the probability initially is 0.5 (or even odds) because the woman was sleeping with two men, the odds for one man can be greatly increased by blood evidence that is certain to be present if paternity exists, but is rare in the general population.

Drawing two spades from same deck example:

Likelihood ratio = 
Peviftrue 
[probability of evidence if proposition is true]





--------------





Pevifnot
[probability of evidence if prop. not true]

=
P of 1st card being a spade if 2nd is a spade


--------------------------------------------------


P of 1st card being a spade if 2nd is not a spade

=
(12/51)


--------


(13/51)

= 
12/13 

To calculate the new odds:

Odds new = 
Peviftrue



-----------
x OddInitial



Pevifnot


=
12/13 x 1:3


=
0.0923:3

Bayes’ Fallacy?

Bayes is useful b/c unlike traditional statistics it allows you to make use of subjective estimates. The problem though is that if you’re too inaccurate the whole calculation is thrown off.

The “new evidence” ratio really does need to be accurate.

One way to take care of this problem is to use a heuristic and create a chart which uses a range of initial odds, e.g.

	Initial odds of paternity
	New odds after applying Bayes’ theorem to 1:1,000 evidence

	1:9
	111:1 (111/112 prob = 0.99107)

	2:8 (or 1:4)
	250:1 (250/251 prob = 0.99602)


Interval distribution – “poisson process”

i. An interval is the gap in time or space between random events.

ii. A common mistake people make is periodicity – that random events will be evenly spaced and won’t overlap, such as calls to a switchboard.

iii. A clumping of events such as birth defects will often freak people out, but the math shows that such clumps are rather common.

iv. Short intervals between events are exponentially more common than long intervals.

v. Hurricane Allison as a “100 year flood” is a good example – people erroneously think that because it was a 100 year flood, they are safe to renovate their house because the next big flood won’t come along for 100 years. But because short intervals are more likely, the chances are better that the flood will come along sooner than 100 years, rather than later.

Statistics

i. Correlation means co-variation and does not necessarily imply cause and effect. One variable changes and the other does too = correlation.

ii. If there is cause and effect, then the independent variable is the cause, the dependent variable is the effect.

iii. A correlation coefficient just measures the linearity of the dots on a scattergram, it does not tell us whether we can be confident there is a correlation.

iv. Null hypothesis is the opposite of the test hypothesis, e.g. “There is no statistically significant correlation between alcohol consumption and ability to walk a straight line.”

v. A correlation coefficient ranges between –1.0 and +1.0, the +/- indicating whether it is a positive relationship, such that one variable goes up, the other does too, or negative (one goes up, the other down).

vi. Alpha value is something we set in advance, and is a level of risk we’re going to tolerate of the relationship occurring other than because of a causal relationship, e.g. a .05 or .01 level.

vii. P value – the probability of the data occurring from random processes without there being a relationship.

Statistical Significance:
Remember: the correlation coefficient tells us NOTHING about whether we can rely on the correlation existing.

Null hypothesis means there is no correlation. “There is no causal relationship between cigarette smoking and cancer.”

The p value is the probability of the data resulting from the null hypothesis.

A high p value leads us to conclude that we can’t trust our inference of causation because there’s a high chance our results occurred from randomness.

Nomenclature:

P value (also called observed significance level) – the probability of similarly strong data from the null hypothesis.

High p value (30%) – low confidence

Low p value (1%) – higher confidence

Alpha value = (α) the preset significance level demanded (.05 or .01). Arbitrarily chosen limit.

Type I error – false positive; detecting a relationship when none exists (criminal law example is wrongful conviction). Beyond a reasonable doubt is a proxy of alpha.

Type II error – false negative; failing to detect a relationship when one does exist (criminal law example is wrongful exoneration).

Power – the likelihood of detecting an existing correlation. (β) A function of how many data points you have, and how much they line up. The bigger the sample size the greater the test power.

Biased coin example: 

5-flip experiment nets 4 heads. We suspect it’s loaded to heads.

The null hypothesis is that the coin is not biased, the 4 heads is a random event.

Alpha value is set at .05 (or 5%).

Next compute the p value (or the probability of 4 [or more] out of 5 tosses being heads):

The probability of 5 heads = ½ to the power of 5 = 1/32

The probability of 4 heads = 5 x (½ to the power of 5) = 5/32

Therefore combine the two and get p = 6/32 = 0.187, which is almost 20%, therefore it’s inconclusive.

What about the same experiment using 10-flips producing 9 heads.

p-value = probability of the null hypothesis (the 9 heads occurred randomly)

10 heads = ½ to the power of 10 = 1/1024

9 heads = 10 x (½ to the power of 10) = 10/1024

Combine the two and get 11/1024 = 0.0107

Because the p value is lower than the alpha value of .05, we can infer statistical significance.

Two-tailed versus one-tailed tests – a two-tailed test would look at the probability of both randomly producing 9 heads or tails.

Test power: the 10-flip experiment with 9 heads has more power than 4 heads in 5.

Title VII discrimination example:

0.6 positive correlation coefficient of men being paid more than women in a workplace – is this statistically significant?

The +0.6 just tells us that the relationship is linear, but not whether the correlation is there.

The null hypothesis here would be that the observed salary difference is random.

We’d have to set an alpha value ahead of time (usually .05).

Then we calculate the p value and compare it to the alpha value.

Standard Deviation:
It’s all about the degree of clumping around the average: is it a traditional bell curve or are the outside edges of the bell spread wide apart?

What happens if you compare the mean heights of the whole college to the varsity basketball team? The basketball team will have a higher “mu” value.

Mu is the population mean.

A pro basketball team might have a height that would be 3 or more standard deviations from the general population.

For the theoretical normal curve (nature just approximates):

1 SD = 68% of the pop.

2 SD = 95% of the pop.

3 SD – 99.7% of the pop.

Typing test scores example:

Hypothesis: the average typing speed will exceed 40wpm

Null hypothesis: the average speed will not exceed 40wpm.

First step – figure out the sample mean: the average typing speed of all of the applicants. In this case it’s 46wpm. Here’s how it’s calculated:

Sample mean = xbar = 
6x(30) + 12x(40) + 6x(50) + 6x(70)





-------------------------------------------
= 46







30

(6 typed 30wpm, 12 typed 40wpm, 6 typed 50wpm and 6 types 70wpm.)

Next: compute the “S” value, which the sample SD. You do this by subtracting the sample mean from each group of sample scores:

30 scores = 30-46 = 
-16




(dev)squared = 256

40 scores = 40-46=
-6




(dev)squared = 36

50 scores = 50-46=
4




(dev)squared = 16

70 scores = 70-46=
24




(dev)squared = 576

Then you calculated the summed squares:

6x(256) + 12x(36)+6x(16)+6x(576) = 5,520

Next you apply the equation to calculate the sample standard deviation (not included here) and you end up with 13.5. That means the sample standard deviation for the 30 typing test scores is 13.5.

If one standard deviation if 13.5wpm, then we should expect about 68% of the sampled typists (or roughly 20 of the 30 tested) to be within 13.5 words per minute of the mean typing speed of 46.

Sample and Data Collection
Census errors: [a census is a count of everything without taking a sample] (1) validity (the scorer may not see a data point, e.g. missed a batter’s swing); (2) reliability (different scorers see different things); (3) recording (it’s written down sloppily).

Sampling bias: (1) How do you make your sample frame? How do you go about finding the population you want to survey? (2) Convenience is one method – just grab people at the mall, but certain malls have certain types of persons, hence inherently biased (3) Selection bias – sampler may prefer to talk to attractive women (4) Non-response bias – some people you try to grab won’t respond, and they may represent a discrete data set you miss out on.

Dealing with bias: (1) Use of quotas, e.g. go to the mall, but try to get people from different socioeconomic groups; (2) Secondary measures, e.g. do a less intensive survey elsewhere to see if you get a different result; (3) Use a control group, e.g. in drug studies; (4) Double blind – experimenter doesn’t know what property is being tested and neither do the test subjects;

GAME THEORY
A zero sum game is one in which there MUST be a winner and a loser; examples are a jury trial and a chess game.

Battle of the Bismarck payoff matrix:

	
	Player 1: General Kenney

	
	NORTH
	SOUTH

	Player 2: Imamura
	NORTH
	2
	2

	
	SOUTH
	1
	3


i. The north and south indicate the choice of directions in which either guy could go around the island. Kenney is searching for Imamura. The numbers indicate the number of days for which the American forces could bomb the Japanese fleet.

ii. Neither knows what the other one is going to do.

iii. Note that if General Kenney sails south, he can bomb for either 2 or 3 days, whereas if he goes North he can only get 1 or 2 days.

iv. If Imamura goes South, then he presents Kenney with his best option, so naturally he would rather go North (this is what actually happened).

v. This happens to be a game with a “saddle point.” In this case it’s where both guys go North – lowest point in its row (meaning its going to be chosen by Imamura), highest point in its column (meaning its going to be chosen by Kenney).

vi. This strategy shows Imamura choosing the least damaging outcome – this is called the minimax strategy.

vii. Maximax strategy – seeks to maximize the best possible outcome.

viii. Maximizing your best possible outcome is not always the wisest thing, e.g.:

	
	Player 2 (chance)

	Player 1 (you)
	$ zero
	$100million

	
	$0.01
	$0.01


i. In the above example you’re better off not choosing the guaranteed one cent, but taking the chance of getting nothing or $100million.

ii. Maximin strategy is often employed in child custody battles during a divorce. Mom really wants custody, Dad really wants to hang onto as much property as possible and have low support payments. Dad strategically bids for custody, even though he doesn’t really want it and has about a 1/10 shot at getting the kids. Dad offers to drop his custody bid in return for Mom agreeing to lower payments. Even though the chance of Dad getting custody is remote, Mom considers this an unacceptable risk and adopts maximin, taking the lower settlement.

iii. Maximin also operates with defendants taking a plea instead of rolling the dice with a jury trial.

iv. Another example: 

a. Lawyer has a settlement offer of $100,000.

b. If he goes to trial and wins, he could get $500,000.

c. But the likelihood of getting the $500K is 1/10.

d. The mathematical expectation of going to trial is $70,000, which is less than the $100,000 settlement, so the smart thing to do is take the offer (but a less risk-adverse lawyer might go to trial).

Mixed strategy game:

Different because there is no saddle point (lowest in its row, highest in its column).

	
	Guard’s Choices

	
	E, .333
	W, .667

	Burglar’s choices
	E, .667
	$0
	$10,000

	
	W, .333
	$20,000
	$0


The Eastern safe contains $10,000; the Western safe contains $20,000.

There is not a “pure” strategy because there’s no saddle point. Here we need a mixed strategy; here the best strategy for each, if each side is rational, is for the guard to go 2/3 of the time to the Western safe, and for the burglar to go 2/3 of the time to the Eastern safe. Why? Because the burglar knows the guard’s strategy (but not where he’ll be) and can adjust accordingly.

What’s essential is inscrutability: one side never knowing where the other is going, otherwise there would be no game.

There is no need for inscrutability in a saddle point game – you take the same route each time because there is a definitively best way to play.

Psychology is such that people play saddle games well, but seldom play non-saddled games well.

1. Dollar auction – auctioneer stands with $1 and begins by asking for $0.01 for it. The catch is that the runner-up has to pay his/her bid to the auctioneer (so the winner gets the dollar and the runner-up pays their bid but gets nothing).

2. Significant events in the dollar auction:

i. When there’s a 2nd bid, there’s going to be a loser.

ii. When the bids exceed 50 cents – guarantees a profit for the auctioneer.

iii. When the bids exceed one dollar.

3. People will put themselves in a situation where they have to pay more than a dollar for a dollar in order to minimize the cost of losing. Better to pay $1.10 for a dollar than be the runner-up bidder and have to pay $1.09 for nothing at all.

4. This is sometimes called entrapment in escalation. Real world example is the inevitably unprofitable Concorde airplane and the British/French government’s investment.

5. Real-life examples: the labor strike, which is not economical for either side, but nobody realizes it until they both have lost more than they stand to gain.

6. Also lawsuits: both sides have $20,000 into a $10,000 lawsuit; they keep playing though hoping to minimize their losses.

Clausewitz’s M-E-T-T-T checklist (mission, enemy, terrain, troops and timing) – used by the US military to assess the other side’s capabilities and to formulate your best strategy:

i. Concentrated force – old way of fighting was in lines: pick a weak point of their line and concentrate on it.

ii. Positional flexibility – need to be able to switch styles; would allow you to avoid being flanked for example.

iii. Simplicity: “friction” – simplest strategy is the best (similar to Occam’s razor…least moving parts). The “fog of war” – some small detail overlooked can foul up the best of plans.

iv. Unified command – got to have a chain of command.

v. Surprise and paradox – surprise the other side by completely changing your strategy.

vi. Economy of force - 

vii. Protection/command – always protect your commander.

viii. Center of gravity – opponent will have a concentrated point that, if overrun, will confuse and defeat the enemy.

ix. Initiative/reactive – better to be on the initiative than just reacting.

x. Scarcities/attrition – figure out what resources they are scarce on and cause them to burn it up too quickly.

xi. Timing

xii. Culminating point – if you’re winning be careful to cut it off when you’re ahead. Hitler made a terrible mistake by pushing on toward Moscow.

Fight outnumbered and win:

1. Frontal attack

2. Flanking

3. Infiltration – drop in paratroopers.

4. Penetration 

5. Turning movement - attack from the side (different from flanking)

Lawyer litigation tactics:

Bring a million different claim theories because you want to maintain flexibility.

Concentrated use of force – focus the bulk of your efforts on the best of your claims.

Mixed Motive Games

Battle of the Sexes:

	
	Bacall

	
	C
	D

	Bogart
	C
	2,2
	3,4

	
	D
	4,3
	1,1


Bogart wants to go to see Casablanca, Bacall wants to go see Gone with the Wind.

If they both see Casablanca, Bogart gets 4, Bacall gets 3 (for “togetherness”)

If they both see Gone with the Wind, Bacall gets 4, Bogart gets 3 (for “togetherness”)

If they go to separate rooms and watch their individual favorites, they get 2 each.

1 point each occurs when they both attempt to compromise and please the other person.

The odd thing about this game is that you could end up getting more by trying to please someone else over yourself (e.g. by choosing to watch the movie by yourself).

Chicken:

	
	Dean

	
	C
	D

	James
	C
	3,3
	2,4

	
	D
	4,2
	1,1


The idea here is that the one who is most reckless wins.

4 points if you’re the one who never waivers.

2 points if you’re the one who swerves to avoid the collision.

3 points each if they both turn away.

1 point each if nobody turns and they both die in the collision.

These games are different from Bismarck because there is no saddle point – no easy way to calculate the best outcome for yourself.

Lock-in strategy: you demonstrate by your behavior that you are guaranteed to go with a certain choice; if the other side believes you they have no choice but to take a certain course in order to avoid the worst outcome for them.

The chicken game reframed as the child custody dispute – greedy father refuses to relinquish custody claim to get lower payments…what if mom calls the bluff and relinquishes her custody claim? Might result in the worst outcome – kids are with dad when he doesn’t want them but mom does.

Prisoner’s Dilemma:

	
	Gravano

	
	C
	D

	Gotti
	C
	3,3
	1,4

	
	D
	4,1
	2,2


Note: the higher numbers are better in this game.

i. Most analyzed game in game theory; cooperation is the only way to reach the best outcome, but the damage that will occur if you’re double-crossed is enormous.

ii. Two suspects are arrested, both know that if:

iii. Neither confesses they’ll get a payoff of 3.

iv. One testifies against the other, the other one stays quiet: the one who testifies get 4, the other gets 1.

v. If both testify against one another, they get 2 each.

vi. If both parties can trust each other, they get the maximum combined payoff, and the payoff to each is equal.

vii. The prisoner’s dilemma can be reframed as the arms race: Russia and America facing one another down, provided nobody uses their nukes, both sides gain the maximum. If both decide to use their nukes, everybody loses.

i. Iterated game:

ii. Tit for Tat (“TFT”): starts out with a cooperative move, thereafter it just echoes the opponents last move, tit for tat.

iii. Why does TFT work? It is nice b/c it invites cooperation. It is retaliatory in that if you fight with it, it will fight back. It is also forgiving – if you switch back to cooperating, TFT will do the same. 

iv. In the iterated game, psychological effects tend to product coordination.

v. Perlmutter – description of discovery process in litigation. Perlmutter suggested writing a letter at the beginning of discovery saying that neither side will push or trip, and invites the other side to sign it. This fits the iterated prisoner’s dilemma game because if both sides cooperate, they both gain.

R H E T O R I C
i. Investigative questioning – to find out and get on record their complete story, you use the funnel sequence: 

a. (1) Invite the person to narrate – “Tell us what your dispute is about”; they’ll go for a few minutes and then stop, so you need to be patient and say things like “Is there anything else?” or “Have you told me everything that’s important?” You DON’T DO THIS AT TRIAL. This is for depositions. You don’t want a witness getting on a soapbox.

b. (2) Exhaust – make sure the entire narrative potential has been exhausted.

c. (3) Specific – once the narrative is over, more to specific questions.

ii. Active listening: by repeating back to the witness what they have said, they feel reassured that you are really hearing what they are saying.

iii. Active listening steps: (a) repeat (b) ask (c) repeat what’s added (& ask) (d) ask what to do (e) repeat (f) tell what agree (g) negotiate.

iv. Might not want to use this technique when dealing with agitated or abusive persons; the urge to defend is very strong, particularly in trial.

v. “I” statements – putting the issues in terms of the effects on you, the speaker, rather than attributing wrongdoing to the listener.

vi. Reasons people may not cooperate with attorney questioning:

a. Social resistance:

i. Status incongruence: the interviewer/interviewee are different status and this creates a barrier. E.g. President Clinton and interviewer.

ii. Etiquette – it might be difficult to talk about the subject matter, e.g. sexual harassment.

iii. Hostility – e.g. the interviewer is someone who is disliked/feared

b. Cognitive:

i. Goal inconsistencies - subject of inquiry might not want to tell all because it is inconsistent with their ultimate goal, e.g. played along with harassment initially to make it go away.

ii. Self-esteem - behavior they are being asked about may be demeaning.

iii. Repression – (not common) person has tried to put the memory out of their mind; may occur at an unconscious level

iv. Perceived irrelevance – interviewee may have important information but not disclose it because they thought it didn’t matter.

v. Memory – often faulty, subject to change.

c. Manifestation v Cause. Indicators of falsehood.

i. People don’t come right out and tell you what the communication problem is. They usually try to mask the communication barrier.

ii. Story theory helps determine/identify resistance.

iii. Falsehood from truth-tellers can occur also. Suggestion can be one source of error. Confabulation – information that has surfaced since the event, but the person retroactively “remembers” it from the event. Memory hardening – people become more determined of the truth of the observation.

iv. Demeanor is the worst method you can use to detect truth telling; people are often legitimately nervous which is easily mistaken for lying.

Overcoming barriers to communication:

i. Communicate your expectation and project your iron-clad certainty that the person is going to be forthcoming. Don’t say “You may or may not remember this” say “I know you can remember this and I want you to tell us”

ii. Authority and conformity – mimic Milgram’s experimenter saying “The experiment requires that you continue”

iii. Empathy and dissonance reduction – tell the witness that you sympathize and give them a good reason to tell their story honestly. Questioning a murder suspect you blame the victim to get them to talk.

iv. Motivational statements – tell them to keep it up b/c they’re helping

v. Confidentiality – but be careful what you promise b/c the A/C privilege will only go so far (remember crime/fraud exception). Communications are not discoverable, underlying facts are.

vi. Timing and Small Steps – if they’ll admit a little bit, they’ll admit more.

vii. Confrontation:

a. Clarification – ask people to explain inconsistencies.

b. Role-play – use a hypothetical situation to raise the contradiction. Takes the focus off you not believing them. E.g. “I can’t tell that to a jury without you clarifying.”

c. Direct confrontation – sometimes you just have to call the client a liar.

N E G O T I A T I O N

1. Firm fair offer

2. Conceal settlement point (unreasonable first offer)

3. Get your opponent to make the 1st reasonable offer

4. Irrationality

5. Blame client

6. Mediator

7. Merits

8. Appeal/mercy

9. Bargain vs self

10. Bargain vs each other

11. Ganging up

12. Clubbiness

13. Timing

14. Activity

15. Collateral cons.

16. Lock-in

17. Focal point

18. Drafter

19. Agenda

20. False demand

21. Reverse psychology

22. Phys factors

23. Involve principal

24. Good feelings

25. Test/strength
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